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M
ission O
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A
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a
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c
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s
r
o

o
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r
d
e
r
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o
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s
c

a
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u
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u
s
t
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s
e
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u
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k
n
o

w
le

d
g

e
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f
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h
e
m
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a
l e

q
u
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n
s
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o
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o
n
v
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c
e
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t
o
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t
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u
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o
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n
s
w

e
r
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h
e
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u
e
s
t
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n
s
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t
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a
c

h
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e
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a
n
d
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e
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u
r
e
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o
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e
c

o
r
d
 e

a
c

h
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n
s
w

e
r
.  O

n
c

e
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v
e
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a
r
e
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o
m

p
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t
e
, r

e
t
r
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v
e
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h
e
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o
m

p
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t
io

n
  

c
o

d
e
 t

o
 b

r
e
a
k
 o

u
t
 a

n
d
 s

av
e
 t

h
e
 d

a
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Y
o

u
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u
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L
e
v
e
l 1 

Q
1 

2, 0, 0 

A 
C

 

D
 

4, 0, 2 

B
 

4, 3, 2 
2, 3, 0 

W
hat are the m

issing 
coefficients for the 
follow

ing equation: 
 

Fe + O
2  

 Fe
2 O

3  



L
e
v
e
l 1 

Q
2 

2, 2, 2, 1 

A 
C

 

D
 

1, 1, 1, 2 

B
 

2, 1, 1, 2 
1, 1, 2, 2 

W
hat are the m

issing 
coefficients for the 
follow

ing equation: 
 

N
a + H

2 O
 

 N
aO

H
 + H

2 



L
e
v
e
l 1 

Q
3 

3, 1, 2 

A 
C

 

D
 

1, 3, 2 

B
 

1, 3, 3 
1, 1, 2 

W
hat are the m

issing 
coefficients for the 
follow

ing equation: 
 

N
2  + H

2  
 N

H
3 



L
e
v
e
l 1 

Q
4 

3, 4, 6, 2 

A 
C

 

D
 

2, 1, 2, 3 

B
 

1, 3, 1, 3 
4, 3, 2, 6 

W
hat are the m

issing 
coefficients for the 
follow

ing equation: 
 

N
H

3  + O
2  

 N
2  + H

2 O
 



L
e
v
e
l 1 

A
 

2 
1 

3 
4 

B
 

C
 

D
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1 + 2 =  

1. 
 

 
apart. 

  2. S
olve the 9 problem

s. 
 3. B

uild a triangle so that each edge has the sam
e  

    answ
ers facing each other. 

3 

C
orrect 

Incorrect 

1, 12, 8 

S8 + O2  SO3 

1, 2, 1, 2 2, 2, 3 

CH4 + O2  CO2 + H2O 

C 

H 

A 

B 

D 

I 

E 

G 

F 

KClO3  KCl + O2 



C
u

2 O
 + C

 
 C

u + C
O

2  
F 

A
 

NaB
r + C

aF
2  

 NaF + C
aB

r2  

SO
2  + O

2  + H
2 O

 
 H

2 SO
4  

M
 

E
 

C
3 H

8  + O
2  

 C
O

2  + H
2 O

 

AlB
r3  + K

2 SO
4  

 K
B

r + Al2 (SO
4 )3  

N
 

R
 

C
O

2  + H
2 O

 
 C

6 H
12 O

6  + O
2  

1, 5, 3, 4 
6, 6, 1, 6 

4, 3, 1, 12 
2, 1, 2, 1 

1, 2, 2, 1 
2, 3, 6, 1 

4, 4, 1, 8 

Pb(O
H)2  + HC

l 
 H

2 O
 + PbC

l2  
I 

K
 

FeC
l3  + NaO

H 
 Fe(O

H)3  + NaC
l 

1, 5, 1, 4 
2, 1, 4, 1 

6, 6, 1, 6 

2, 1, 2, 1 
4, 4, 1, 8 

1, 3, 1, 3 
2, 1, 2, 2 

1, 5, 3, 4 
1, 5, 3, 4 

1, 5, 1, 4 
2, 3, 1, 6 

2, 3, 6, 1 
4, 4, 1, 8 

L
e
v
e
l 3

 
S

olve each problem
 and w

rite 
the m

atching letter on the blank 
above the answ

er. 

(NH
4 )3 PO

4  + Pb(NO
3 )4  

 Pb
3 (PO

4 )4   + NH
4 NO

3  
G

 
D

 
B

F
3  + Li2 SO

3  
 B

2 (SO
3 )3  + LiF

 

H
3 PO

4  + HC
l 

 PC
l5  + H

2 O
 

O
 

T
 

H
2 SiC

l2  + H
2 O

 
 H

8 Si4 O
4  + HC

l  
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Q
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Digit 1 

Codes Answers 

Digit 2 
Digit 3 

Digit 4 

N
am
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D
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W
rite the correct 
letter in each 

triangle 

L
e
v
e
l 2

 
L
e
v
e
l 1 

C
ongratulations!  

E
nter the com

pletion code  
to m

ake your escape! 

W
hat did the lim

estone say to the geologist? 

L
e
v
e
l 3

 


